Warm Up

Given the sequence 0, 22, 70, 156, 292, 490, 762, ...

Determine the value of t;5 without using a pencil and paper!
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Pattern from Levels of Difference??

How can the first term in a sequence be
determined using levels of difference?

§ hava alnok at an example of each type of sequence:
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In general, the level of the common difference is equal to the degree of the power
sequence.

Definition: nl = n(n-1)(n-2)(n-3)..(3)(2)(1) [e.q. BI = (BY(4)(3)(2)(1)]
If m is the degree of a power sequence, then L = mla
e.q if the sequence is quartic, then D, = 4la = (4)(3)(2)(1)a = 24a.
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Warm Up

1. During the power dive of a plane during a stunt show the following heights above the grownd at particolar times were plotted

it1 the table below:
Time(sec) ([0 | 1 | 2 |3 | 4| 5 0 I ‘ I 2 I ')
Height(m) | 20 | 71 | 64 | 59 | 56 | 535 6—6 / ("{

(4) Determine what type of model that this data would follow. Justify your choice! I ” l l 5?

(2]
b\f‘%ﬂ,—g/—g)w ,,{
Bi- Q) 1) D\ o= 5
(k) Determine a function hif) that expresses the height of the plane sbove the ground ef seconds. [2]
-
Ih=1€% /ot +8d
(2) What iz the closest that the plane will come to the ground? 1]

() Determine the height of the plane after 10.5 seconds: 98‘ ‘ “ M 1]



Quadratic Functions

y=ax" +bx+c ('%—ﬁ-“ﬂq\

where "a" and "b" are coefficients and "c" is a constant
e The functions is said to have a degree of 2 (highest exponent)
e There are 3 forms of a quadratic equation...

GENEFRAL STANDARD TRANSFORMATION AL

y:.::xj+bx+c ,}’=-=1|:I—hjj+k _j:[y—j;):[x—hf

where "a" is the vertical stretch factor
"h" is the horizontal translation
"k" is the vertical translation

Mapping Notation - a notation that describes how a graph and its
standard image are related.
STat 9 j - .KL

For Quadratic Functions...

(x,») = (x+h,ay+Kk) RS

Where the first point from the graph y = x2 maps onto a point in the image graph.




Transformations of the Quadratic
Function in Standard Form

y=a(x-hy+k

Direction of Opening: (“Look at the sign of the stretchfactor”)

o If 450, then the graph opers wpward %@7}6‘#;1 -
9

o [fa<0,thenthe gaph opers downward.

Vertical Stretch: (“Loolk at the pmgnitude of the siretch factor™)

* [f]q>1, then the graph becomes nayrower.

| 7
o If|a=1, then the gaph Si@ps the same. ‘J . /}Y

o [f0<|q|<1, thenthe graph becomes widsy.

Horizontal Transhtion: (“ Think opposite™) C Iy
L~ (¥

# [fh>0,then the gaph moves fothe ¥ ght i units.

# [fh=0,thenthe gaph does not mowe horizortally.

o [fh<0,thenthe gaph moves fothe lef b uits.

Vertical Translation: (¥ Exactly the same™) /
/

s [fi>0,then the gaph moves ypward Ui,

o [fi =0, then the graph does nat move vertically.

s [fk<0,then the gaph moves dowrmeard i 100,




@F *3(x+5\}+ st
h

o0pe ! P«M\nl o

—_— —

b'\(. .;Y " .
OPQ 4 I\va\
H(ﬂﬁ Lef4 Vg

VQT’M U{) B.

Mo Rl fo o)

Mky) 5(X—-{)‘/ﬂ?‘a\ﬁ.).g“)
ux’-
At

> X
Eﬁfq =S —%_

l \ ~41~)
_&“7‘




	Page 1: Sep 9-10:41 PM
	Page 2
	Page 3: Sep 10-11:31 PM
	Page 4: Quadratics
	Page 5: Transformations
	Page 6: Sep 15-10:30 AM

